Ann. Comb. 25 (2021), no. 1, 167–177.

q-ANALOGUES OF SOME SERIES FOR POWERS OF π

QING-HU HOU AND ZHI-WEI SUN

ABSTRACT. We obtain q-analogues of several series for powers of π . For example, the identity

$$\sum_{k=0}^{\infty} \frac{(-1)^k}{(2k+1)^3} = \frac{\pi^3}{32}$$

has the following q-analogue:

$$\sum_{k=0}^{\infty} (-1)^k \frac{q^{2k}(1+q^{2k+1})}{(1-q^{2k+1})^3} = \frac{(q^2;q^4)_{\infty}^2 (q^4;q^4)_{\infty}^6}{(q;q^2)_{\infty}^4},$$

where q is any complex number with |q| < 1. We also give q-analogues of four new series for powers of π found by the second author.

1. Introduction

The Riemann zeta function is given by

$$\zeta(s) := \sum_{n=1}^{\infty} \frac{1}{n^s}$$
 for $\operatorname{Re}(s) > 1$.

Obviously,

$$\sum_{k=0}^{\infty} \frac{1}{(2k+1)^s} = \left(1 - \frac{1}{2^s}\right) \zeta(s) \text{ for } \text{Re}(s) > 1.$$

As Euler proved (cf. [12, pp. 231–232]), for each m = 1, 2, 3, ... we have

$$\zeta(2m) = (-1)^{m-1} \frac{2^{2m-1} \pi^{2m}}{(2m)!} B_{2m},$$

where the Bernoulli numbers B_0, B_1, \ldots are given by $B_0 = 1$ and

$$\sum_{k=0}^{n} {n+1 \choose k} B_k = 0 \quad (n = 1, 2, 3, \ldots).$$

²⁰¹⁰ Mathematics Subject Classification. Primary 05A30; Secondary 11B65, 11M06. Key words and phrases. Dirichlet's L-function, q-analogue, q-series, difference operator.

The first and second author are supported by the National Natural Science Foundation of China (grants 11771330, 11921001, and 11971222, respectively).

As usual, for $n \in \mathbb{N} = \{0, 1, 2, \ldots\}$, the q-analogue of n is given by

$$[n]_q = \frac{1 - q^n}{1 - q} = \sum_{0 \le k < n} q^k.$$

For complex numbers a and q with |q| < 1, we adopt the standard notation

$$(a;q)_{\infty} = \prod_{k=0}^{\infty} (1 - aq^k).$$

Recently, Z.-W. Sun [14] obtained the following q-analogues of Euler's formulae $\zeta(2) = \pi^2/6$ and $\zeta(4) = \pi^4/90$:

$$\sum_{k=0}^{\infty} \frac{q^k (1+q^{2k+1})}{(1-q^{2k+1})^2} = \frac{(q^2; q^2)_{\infty}^4}{(q; q^2)_{\infty}^4}$$

and

$$\sum_{k=0}^{\infty} \frac{q^{2k}(1+4q^{2k+1}+q^{4k+2})}{(1-q^{2k+1})^4} = \frac{(q^2;q^2)_{\infty}^8}{(q;q^2)_{\infty}^8},$$

where q is any complex number with |q| < 1. Note that $\lim_{q \to 1} \frac{1-q}{1-q^{2k+1}} = \frac{1}{2k+1}$ and also

$$\lim_{\substack{q \to 1 \\ |q| < 1}} (1 - q) \frac{(q^2; q^2)_{\infty}^2}{(q; q^2)_{\infty}^2} = \lim_{\substack{q \to 1 \\ |q| < 1}} \prod_{n=1}^{\infty} \frac{[2n]_q^2}{[2n-1]_q [2n+1]_q} = \frac{\pi}{2}$$
 (1.1)

with the help of Wallis' formula

$$\prod_{n=1}^{\infty} \frac{4n^2}{4n^2 - 1} = \frac{\pi}{2}.$$

Motivated by Sun's work [14], A. Goswami [7] got q-analogues of Euler's general formula for $\zeta(2m)$ with m a positive integer, and M. L. Dawsey and K. Ono [5] gave further applications.

Let χ be a Dirichlet character modulo a positive integer m. The Dirichlet L-function associated with the character χ is given by

$$L(s,\chi) := \sum_{n=1}^{\infty} \frac{\chi(n)}{n^s}$$
 for $\text{Re}(s) > 1$.

The Dirichlet beta function is defined by

$$\beta(s) = L\left(s, \left(\frac{-4}{\cdot}\right)\right) = \sum_{k=0}^{\infty} \frac{(-1)^k}{(2k+1)^s} \quad \text{for } \operatorname{Re}(s) > 0,$$

where (-) denotes the Kronecker symbol. As Euler observed,

$$\beta(2n+1) = \frac{(-1)^n E_{2n}}{4^{n+1}(2n)!} \pi^{2n+1} \tag{1.2}$$

for all n = 0, 1, 2, ... (cf. (3.63) of [6, p. 112]), where $E_0, E_1, E_2, ...$ are Euler numbers defined by

$$E_0 = 1$$
, and $\sum_{k=0 \atop 2|k}^{n} \binom{n}{k} E_{n-k} = 0$ for $n = 1, 2, 3, \dots$

In particular,

$$\beta(1) = \frac{\pi}{4}, \ \beta(3) = \frac{\pi^3}{32}, \ \beta(5) = \frac{5\pi^5}{1536}.$$

In view of (1.1), we may view Ramanujan's formula

$$\sum_{k=0}^{\infty} \frac{(-q)^k}{1 - q^{2k+1}} = \frac{(q^4; q^4)_{\infty}^2}{(q^2; q^4)_{\infty}^2} \quad (|q| < 1)$$

(equivalent to Example (iv) in [2, p. 139]) as a q-analogue of Leibniz's identity $\beta(1) = \pi/4$. Recently, Q.-H. Hou, C. Krattenthaler and Z.-W. Sun [11] obtained the following new q-analogue of Leibniz's identity:

$$\sum_{k=0}^{\infty} \frac{(-1)^k q^{k(k+3)/2}}{1 - q^{2k+1}} = \frac{(q^2; q^2)_{\infty} (q^8; q^8)_{\infty}}{(q; q^2)_{\infty} (q^4; q^8)_{\infty}} \quad \text{for } |q| < 1.$$

Motivated by the above work, we seek a q-analogue of the identity

$$\beta(3) = \sum_{k=0}^{\infty} \frac{(-1)^k}{(2k+1)^3} = \frac{\pi^3}{32}.$$
 (1.3)

This leads to our following result.

Theorem 1.1. For |q| < 1 we have

$$\sum_{k=0}^{\infty} (-1)^k \frac{q^{2k}(1+q^{2k+1})}{(1-q^{2k+1})^3} = \frac{(q^2; q^4)_{\infty}^2 (q^4; q^4)_{\infty}^6}{(q; q^2)_{\infty}^4}.$$
 (1.4)

Remark 1.1. (1.4) is a q-analogue of (1.3) because

$$\begin{split} &\lim_{\stackrel{q\to 1}{|q|<1}} (1-q)^3 \frac{(q^2;q^4)_\infty^2(q^4;q^4)_\infty^6}{(q;q^2)^4} \\ &= \lim_{\stackrel{q\to 1}{|q|<1}} (1-q)^2 \frac{(q^2;q^2)_\infty^4}{(q;q^2)_\infty^4} \times \lim_{\stackrel{q\to 1}{|q|<1}} \frac{1-q^2}{1+q} \cdot \frac{(q^4;q^4)_\infty^2}{(q^2;q^4)_\infty^2} \\ &= \frac{\pi^2}{4} \times \frac{\pi}{4} = \frac{\pi^3}{16} \end{split}$$

in view of (1.1).

How to give q-analogues of (1.2) for n = 2, 3, 4, ...? This problem looks sophisticated.

We will prove Theorem 1.1 in the next section and present more similar results in Section 3.

Recently, Z.-W. Sun [15] established the following new identities:

$$\sum_{k=0}^{\infty} \frac{k(4k-1)\binom{2k}{k}^3}{(2k-1)^2(-64)^k} = -\frac{1}{\pi},$$
(1.5)

$$\sum_{k=0}^{\infty} \frac{(4k-1)\binom{2k}{k}^3}{(2k-1)^3(-64)^k} = \frac{2}{\pi},\tag{1.6}$$

$$\sum_{k=0}^{\infty} \frac{(12k^2 - 1)\binom{2k}{k}^3}{(2k - 1)^2 256^k} = -\frac{2}{\pi},\tag{1.7}$$

$$\sum_{k=1}^{\infty} \frac{(3k+1)16^k}{(2k+1)^2 k^3 \binom{2k}{k}^3} = \frac{\pi^2 - 8}{2}.$$
 (1.8)

They are (1.1), (1.2), (1.3) and (1.77) of Sun [15] respectively. In our second theorem we give q-analogues of these four identities.

Theorem 1.2. For |q| < 1 we have

$$\sum_{k=0}^{\infty} (-1)^k q^{k^2} \frac{[2k]_q ([4k]_q - 1)}{([2k]_q - 1)^2} \cdot \frac{(q; q^2)_k^3}{(q^2; q^2)_k^3} = -\frac{(q; q^2)_\infty (q^3; q^2)_\infty}{(q^2; q^2)_\infty^2}, \tag{1.9}$$

$$\sum_{k=0}^{\infty} (-1)^k q^{k^2 + 2k} \frac{[4k]_q - 1}{([2k]_q - 1)_q^3} \cdot \frac{(q; q^2)_k^3}{(q^2; q^2)_k^3} = \frac{(q; q^2)_\infty (q^3; q^2)_\infty}{(q^2; q^2)_\infty^2}, \tag{1.10}$$

$$\sum_{k=0}^{\infty} \frac{P_k(q)q^{k^2}}{(1-q)^3([2k]_q-1)^2} \cdot \frac{(q;q^2)_k^2(q^2;q^4)_k}{(q^4;q^4)_k^3} = 2q(1+q)\frac{(q^2;q^4)_{\infty}(q^6;q^4)_{\infty}}{(q^4;q^4)_{\infty}^2},$$
(1.11)

where $P_k(q)$ denotes

$$q^{12k+1} - 3q^{10k+2} + 3(2q^2 - 1)q^{8k+1} - (3q^4 - 1)q^{6k} + 3q^{4k+1} - 3q^{2k+2} + 2q^3 - q,$$

and also

$$q\sum_{k=0}^{\infty} \frac{[3k+4]_q}{[2k+3]_q^2} \cdot \frac{(q;q)_k^3(-q;q)_k}{(q^3;q^2)_k^3} q^{k(k+5)/2} = (1-q)^2 \frac{(q^2;q^2)_{\infty}^4}{(q;q^2)_{\infty}^4} - 1 - q.$$
(1.12)

We will prove Theorem 1.2 in Section 4 via the difference operator and some known q-identities.

2. Proof of Theorem 1.1

Lemma 2.1. Let χ be any Dirichlet character. For |q| < 1 we have

$$\sum_{n=1}^{\infty} \chi(n) \frac{q^{n-1}(1+q^n)}{(1-q^n)^3} = \sum_{m=1}^{\infty} \left(\sum_{d|m} \chi\left(\frac{m}{d}\right) d^2 \right) q^{m-1}.$$
 (2.1)

Proof. For any positive integer n, we have

$$\frac{1}{(1-q^n)^3} = \sum_{k=0}^{\infty} {\binom{-3}{k}} (-q^n)^k = \sum_{k=0}^{\infty} {\binom{k+2}{2}} q^{kn}.$$

Thus

$$\begin{split} &\sum_{n=1}^{\infty} \chi(n) \frac{q^{n-1}(1+q^n)}{(1-q^n)^3} \\ &= \sum_{n=1}^{\infty} \chi(n) q^{n-1} \bigg(\sum_{k=0}^{\infty} \binom{k+2}{2} q^{kn} + \sum_{k=0}^{\infty} \binom{k+2}{2} q^{(k+1)n} \bigg) \\ &= \sum_{n=1}^{\infty} \chi(n) q^{n-1} \bigg(1 + \sum_{k=1}^{\infty} \left(\binom{k+2}{2} + \binom{k+1}{2} \right) q^{kn} \bigg) \\ &= \sum_{n=1}^{\infty} \chi(n) q^{n-1} \sum_{k=0}^{\infty} (k+1)^2 q^{kn} = \sum_{n=1}^{\infty} \chi(n) \sum_{d=1}^{\infty} d^2 q^{dn-1} \\ &= \sum_{m=1}^{\infty} \bigg(\sum_{d|m} \chi\left(\frac{m}{d}\right) d^2 \bigg) q^{m-1}. \end{split}$$

This concludes the proof of (2.1).

Proof of Theorem 1.1. For $n=1,2,3,\ldots$ let $\chi(n)$ be the Kronecker symbol $(\frac{-4}{n})$. With the help of Lemma 2.1,

$$\sum_{k=0}^{\infty} (-1)^k \frac{q^{2k}(1+q^{2k+1})}{(1-q^{2k+1})^3} = \sum_{n=1}^{\infty} \chi(n) \frac{q^{n-1}(1+q^n)}{(1-q^n)^3} = \sum_{m=1}^{\infty} \left(\sum_{d|m} \chi\left(\frac{m}{d}\right) d^2\right) q^{m-1}.$$

On the other hand, we have

$$\sum_{m=1}^{\infty} \left(\sum_{d \mid m} \left(\frac{-4}{m/d} \right) d^2 \right) q^{m-1} = \prod_{n=1}^{\infty} \frac{(1 - q^{2n})^6 (1 - q^{4n})^4}{(1 - q^n)^4}$$

by Carlitz [4, 4.1] (or [1, Theorem 2.5]). Therefore

$$\begin{split} \sum_{k=0}^{\infty} (-1)^k \frac{q^{2k}(1+q^{2k+1})}{(1-q^{2k+1})^3} &= \prod_{n=1}^{\infty} \frac{(1-q^{2n})^2(1-q^{4n})^4}{(1-q^{2n-1})^4} \\ &= \prod_{n=1}^{\infty} \frac{(1-q^{4n-2})^2(1-q^{4n})^6}{(1-q^{2n-1})^4} \\ &= \frac{(q^2; q^4)_{\infty}^2 (q^4; q^4)_{\infty}^6}{(q; q^2)_{\infty}^4}. \end{split}$$

This concludes the proof of (1.4).

3. Other results similar to Theorem 1.1

For any positive integers d and m with $(-1)^m d \equiv 0, 1 \pmod{4}$, it is known (cf. [16]) that

$$\sum_{n=1}^{\infty} \left(\frac{(-1)^m d}{n} \right) \frac{1}{n^m} \in \frac{\pi^m}{\sqrt{d}} \mathbb{Q},$$

where \mathbb{Q} is the field of rational numbers.

Let q be any complex number with |q| < 1. By Carlitz [4, (2.1)] (or [1, Theorem 2.3]),

$$\sum_{m=1}^{\infty} \left(\sum_{d|m} \left(\frac{-3}{m/d} \right) d^2 \right) q^{m-1} = \prod_{n=1}^{\infty} \frac{(1 - q^{3n})^9}{(1 - q^n)^3}.$$

Combining this with Lemma 2.1 we obtain that

$$\sum_{n=0}^{\infty} \left(\frac{n}{3}\right) \frac{q^{n-1}(1+q^n)}{(1-q^n)^3} = \frac{(q^3; q^3)_{\infty}^9}{(q; q)_{\infty}^3},\tag{3.1}$$

which is a q-analogue of the identity

$$\sum_{n=1}^{\infty} \left(\frac{n}{3}\right) \frac{1}{n^3} = \frac{4\pi^3}{81\sqrt{3}}.$$
 (3.2)

Similar to Lemma 2.1, for any Dirichlet character χ , we have

$$\sum_{n=1}^{\infty} \frac{\chi(n)q^{n-1}}{(1-q^n)^2} = \sum_{n=1}^{\infty} \chi(n) \sum_{k=0}^{\infty} (k+1)q^{(k+1)n-1} = \sum_{m=1}^{\infty} \left(\sum_{d|m} \chi\left(\frac{m}{d}\right)d\right) q^{m-1}.$$
(3.3)

Combining this with Ramanujan's identity

$$\sum_{m=1}^{\infty} \left(\sum_{d \mid m} \left(\frac{5}{m/d} \right) d \right) q^{m-1} = \prod_{n=1}^{\infty} \frac{(1 - q^{5n})^5}{1 - q^n},$$

we recover Ramanujan's result

$$\sum_{n=1}^{\infty} \left(\frac{n}{5}\right) \frac{q^{n-1}}{(1-q^n)^2} = \frac{(q^5; q^5)_{\infty}^5}{(q; q)_{\infty}}$$
(3.4)

(cf. [3, p. 107]), which can be viewed as a q-analogue of the identity

$$\sum_{n=1}^{\infty} \left(\frac{n}{5}\right) \frac{1}{n^2} = \frac{4\pi^2}{25\sqrt{5}}.$$
 (3.5)

Ramanujan used (3.4) to deduce his famous congruence $p(5n+4) \equiv 0 \pmod{5}$, where n is any nonnegative integer and $p(\cdot)$ is the well-known partition function.

By [1, Theorems 3.5 and 3.7],

$$\sum_{m=1}^{\infty} \left(\sum_{d|m} \left(\frac{8}{m/d} \right) d \right) q^{m-1} = \prod_{n=1}^{\infty} \frac{(1 - q^{2n})^3 (1 - q^{4n}) (1 - q^{8n})^2}{(1 - q^n)^2}$$

and

$$\sum_{m=1}^{\infty} \left(\sum_{d \mid m} \left(\frac{12}{m/d} \right) d \right) q^{m-1} = \prod_{n=1}^{\infty} \frac{(1-q^{2n})^2 (1-q^{3n})^2 (1-q^{4n}) (1-q^{12n})}{(1-q^n)^2}.$$

Combining this with (3.3) we obtain

$$\sum_{k=0}^{\infty} (-1)^{k(k+1)/2} \frac{q^{2k}}{(1-q^{2k+1})^2} = \frac{(q^2; q^2)_{\infty}^3 (q^4; q^4)_{\infty} (q^8; q^8)_{\infty}^2}{(q; q)_{\infty}^2}$$
(3.6)

and

$$\sum_{k=0}^{\infty} \left(\frac{q^{6k}}{(1 - q^{6k+1})^2} - \frac{q^{6k+4}}{(1 - q^{6k+5})^2} \right) \\
= \frac{(q^2; q^2)_{\infty}^2 (q^3; q^3)_{\infty}^2 (q^4; q^4)_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}^2}, \tag{3.7}$$

which are q-analogues of the identities

$$\sum_{k=0}^{\infty} \frac{(-1)^{k(k+1)/2}}{(2k+1)^2} = \frac{\pi^2}{8\sqrt{2}} \text{ and } \sum_{k=0}^{\infty} \left(\frac{3}{2k+1}\right) \frac{1}{(2k+1)^2} = \frac{\pi^2}{6\sqrt{3}}.$$
 (3.8)

We are unable to find q-analogues of many identities including the following ones:

$$\sum_{k=0}^{\infty} \frac{(-1)^{k(k+3)/2}}{(2k+1)^3} = \frac{3\pi^3}{64\sqrt{2}},$$

$$\sum_{k=0}^{\infty} \frac{(-1)^{k(k+1)/2}}{(2k+1)^4} = \frac{11\pi^4}{768\sqrt{2}},$$

$$\sum_{k=0}^{\infty} \left(\frac{3}{2k+1}\right) \frac{1}{(2k+1)^4} = \frac{23\pi^4}{1296\sqrt{3}},$$

$$\sum_{n=1}^{\infty} \left(\frac{n}{3}\right) \frac{1}{n^5} = \frac{4\pi^5}{729\sqrt{3}}.$$

4. Proof of Theorem 1.2

Proof of Theorem 1.2. For $k \in \mathbb{N}$ let

$$a_k(q) = (-1)^k q^{k^2} [4k+1]_q \frac{(q;q^2)_k^3}{(q^2;q^2)_k^3}.$$

It is known that (see, e.g., [8, Eq. (1.5)])

$$\sum_{k=0}^{\infty} a_k(q) = \frac{(q; q^2)_{\infty} (q^3; q^2)_{\infty}}{(q^2; q^2)_{\infty}^2},$$

which is the q-analogue of Bauer's formula

$$\sum_{k=0}^{\infty} (-1)^k (4k+1) \frac{\binom{2k}{k}^3}{64^k} = \frac{2}{\pi}.$$

Let

$$b_k(q) = (-1)^k q^{k^2} \frac{[2k]_q([4k]_q - 1)}{([2k]_q - 1)^2} \cdot \frac{(q; q^2)_k^3}{(q^2; q^2)_k^3},$$

be the summand on the left hand side of (1.9). By the q-Gosper algorithm (implemented in Maple by the first author [10] or Koepf [13]), we find that

$$a_k(q) + b_k(q) = \Delta_k \left((-1)^{k+1} q^{k^2 - 1} \frac{(1 - q^{2k})^3}{(1 - q^{2k-1})^2 (1 - q)} \cdot \frac{(q; q^2)_k^3}{(q^2; q^2)_k^3} \right)$$

for all $k \in \mathbb{N}$, where Δ_k is the difference operator defined by

$$\Delta_k f(k) = f(k+1) - f(k).$$

Hence

$$\sum_{k=0}^{\infty} b_k(q) = -\sum_{k=0}^{\infty} a_k(q) = -\frac{(q; q^2)_{\infty} (q^3; q^2)_{\infty}}{(q^2; q^2)_{\infty}^2}.$$

This proves (1.9).

Similarly, we set

$$c_k(q) = (-1)^k q^{k^2 + 2k} \frac{[4k]_q - 1}{([2k]_q - 1)^3} \cdot \frac{(q; q^2)_k^3}{(q^2; q^2)_k^3}$$

be the summand on the left hand side of (1.10) and note that

$$-a_k(q) + c_k(q) = \Delta_k \left((-1)^k q^{k^2 - 2} \frac{(1 - q^{2k})^3 (q^2 - q^{2k})}{(1 - q^{2k - 1})^3 (1 - q)} \cdot \frac{(q; q^2)_k^3}{(q^2; q^2)_k^3} \right),$$

for all $k \in \mathbb{N}$. Hence

$$\sum_{k=0}^{\infty} c_k(q) = \sum_{k=0}^{\infty} a_k(q) = \frac{(q; q^2)_{\infty} (q^3; q^2)_{\infty}}{(q^2; q^2)_{\infty}^2}.$$

This proves (1.10).

For $k \in \mathbb{N}$ let

$$s_k(q) = \frac{P_k(q)q^{k^2+1}}{(1-q)^3([2k]_q - 1)^2} \cdot \frac{(q;q^2)_k^2(q^2;q^4)_k}{(q^4;q^4)_k^3}$$

and

$$t_k(q) = [6k+1]_q \frac{(q;q^2)_k^2 (q^2;q^4)_k}{(q^4;q^4)_k^3} q^{k^2}.$$

Then

$$s_k(q) - 2q^2 t_k(q) = \Delta_k \left(\frac{(1 - q^{4k})^3 q^{k^2}}{(1 - q^{2k-1})^2 (1 - q)} \cdot \frac{(q; q^2)_k^2 (q^2; q^4)_k}{(q^4; q^4)_k^3} \right).$$

for all $k \in \mathbb{N}$. Therefore,

$$\sum_{k=0}^{\infty} s_k(q) = 2q^2 \sum_{k=0}^{\infty} t_k(q) = 2q^2 (1+q) \frac{(q^2; q^4)_{\infty} (q^6; q^4)_{\infty}}{(q^4; q^4)_{\infty}^2}$$

with the aid of [9, Theorem 1.1]. This proves (1.11).

Finally, let us consider (1.12). It is easy to verify that

$$\frac{q^{2k+1}[3k+4]_q}{[2k+3]_q^2} \cdot \frac{(q;q)_k^3(-q;q)_k}{(q^3;q^2)_k^3} q^{k(k+1)/2} - [3k+2]_q \frac{(q;q)_k^3(-q;q)_k}{(q^3;q^2)_k^3} q^{k(k+1)/2}
= \Delta_k \left(\frac{(1+q^{k+1})(1-q^{2k+1})}{1-q} \cdot \frac{(q;q)_k^3(-q;q)_k}{(q^3;q^2)_k^3} q^{k(k+1)/2} \right)$$

for all $k \in \mathbb{N}$. Therefore,

$$q\sum_{k=0}^{\infty}\frac{[3k+4]_q}{[2k+3]_q^2}\cdot\frac{(q;q)_k^3(-q;q)_k}{(q^3;q^2)_k^3}q^{k(k+5)/2}-\sum_{k=0}^{\infty}[3k+2]_q\frac{(q;q)_k^3(-q;q)_k}{(q^3;q^2)_k^3}q^{k(k+1)/2}$$

coincides with -1 - q. By [11, (1.9)],

$$\sum_{k=0}^{\infty} [3k+2]_q \frac{(q;q)_k^3(-q;q)_k}{(q^3;q^2)_k^3} q^{k(k+1)/2} = (1-q)^2 \frac{(q^2;q^2)_{\infty}^4}{(q;q^2)_{\infty}^4}.$$

So we have (1.12).

In view of the above, we have completed the proof of Theorem 1.2.

Acknowledgements

We would like to thank the referees for their helpful comments.

References

- [1] A. Alaca, S. Alaca and K. S. Williams, Some infinite products of Ramanujan type, Canad. Math. Bull. **52** (2009), 481–492.
- [2] B. C. Berndt, Ramanujan's Notebooks, Part III, Springer, New York, 1991.
- [3] B. C. Berndt, Number Theory in the Spirit of Ramanujan, Amer. Math. Soc., Providence RI, 2006.
- [4] L. Carlitz, Note on some partition formulae, Quart. J. Math. Oxford, 4 (1953), 168–172.
- [5] M. L. Dawsey and K. Ono, CM Evaluations of the Goswami-Sun Series, in: J. Blümlein, C. Schneider, and P. Paule (eds), Elliptic Integrals, Elliptic Functions and Modular Forms in Quantum Field Theory, Texts & Monographs in Symbolic Computation, Springer, Cham, 2019, pp. 183–193.
- [6] P. Eymard and J.-P. Lafon, The number π , Amer. Math. Soc., Providence, R.I., 2004.
- [7] A. Goswami, A q-analogue of Euler's evaluations of the Riemann zeta function, Research Number Theory **5** (2019), no. 1, Article 3. https://doi.org/10.1007/s40993-018-0141-y
- [8] V.J.W. Guo, q-Analogues of three Ramanujan-type formulas for $1/\pi$, Ramanujan J. **52** (2020), 123–132.
- [9] V.J.W. Guo and J.-C. Liu, q-Analogues of two Ramanujan-type formulas for $1/\pi$, J. Difference Equ. Appl. **24(8)** (2018), 1368–1373.
- [10] Q.-H. Hou, Maple package APCI, http://faculty.tju.edu.cn/HouQinghu/en/index.htm.
- [11] Q.-H. Hou, C. Krattenthaler and Z.-W. Sun, On q-analogues of some series for π and π^2 , Proc. Amer. Math. Soc. **147** (2019), 1953–1961.
- [12] K. Ireland and M. Rosen, A Classical Introduction to Modern Number Theory, 2nd Edition, Grad. Texts in Math. 84, Springer, New York, 1990.
- [13] W. Koepf, qsum.mpl, http://www.mathematik.uni-kassel.de/~koepf/qsum.mpl.
- [14] Z.-W. Sun, Two q-analogues of Euler's formula $\zeta(2) = \pi^2/6$, Colloq. Math. 158 (2019), 313–320.
- [15] Z.-W. Sun, New series for powers of π and related congruences, Electron. Res. Arch. **28** (2020), 1273–1342.
- [16] E. W. Weisstein, *Dirichlet L-series*, MathWorld A Wolfram Web Resource, http://mathworld.wolfram.com/DirichletL-Series.html

(QING-Hu Hou) School of Mathematics, Tianjin University, Tianjin 300350, People's Republic of China

E-mail address: qh_hou@tju.edu.cn

Homepage: http://cam.tju.edu.cn/~hou

(ZHI-WEI SUN) DEPARTMENT OF MATHEMATICS, NANJING UNIVERSITY, NANJING 210093, PEOPLE'S REPUBLIC OF CHINA

 $E ext{-}mail\ address: zwsun@nju.edu.cn}$

Homepage: http://maths.nju.edu.cn/~zwsun